900 GeV pp Soft QCD
SO4FF T T T T T T T T e
o N . 13
=~ B Cross section(An > 3) 13
— —
c0.35 — w ALCE —B
— --3-- Herwig 7.2.0 default N
— —a4— Pythia 8.130.p1 default =<
0.3 . Sherpa 2.2.8 default I
- N
| —x
0.25 — o
02— i
- A i— O
- ™M
- P
R S — o
0.15 — —
— Hbs
— 1=
B 11X
- . —
0.1 —|<
- —
- 1S
- |1 <
0.05 — 4
B RS
B -8
n [ | e | | | | | &
:| | T T T —
2 & —2
L A _
Plccccocccoccocooccoocoocoocooocoocooooooooooo -|:|- ------------------------------------ imm
" N _
O N _
-
< — —_
e 1 1
i) B .
= L _
m — —
05 —0.5
l . . l . . l
899.5 900 900.5

sgrt{s} [GeV]



	Contents
	Page 1


